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00 $17{-1}equiv 1\pmod p$[]

O $p=k\ast i+r\left(1\le r\lIt i\lt p\right)$[

000 $k\ast i+r\equiv 0\pmod p$[]

OO0000 $r~{-13$0%$i~{-1}3$00 $i~{-1}\equiv -k\ast r*{-1}\pmod p$[]

O $i~{-1}\equiv -\Ifloor \frac pi\rfloor\ast (p\ \text{mod}\ i)”~{-1}\pmod p$
R ERERE

00 p3811

const int MAXP=3e6+5;

int inv[MAXP];

void get inv(int p
inv 1]=1;
_for(i,2,p
invii|=1LL*(p-p/1)*inv|p%1i %p;
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goog

Oo000O0ooogog $\sum {i=1}"n a_if(\floor \frac ni\rfloor)$ 000000000 $ai$ 0000

0000000000 $0(\sqrtn)$
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0000 $\Ifloor\Mfracnivrfloors OO DO OOOOO0OOOODOOO
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a0 $\forall i\in\Ifloor |, n\rfloor$[]O $\Ifloor \frac ni\rfloor$ DO OO O
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OO0 $1$0000000 $r$08$180000000 $r$0000O

0O 00O O \begin{equation}\Ifloor \frac n{\Ifloor \frac nl\rfloor }\rfloor\le \frac n{\Ifloor \frac nl\rfloor}\It
\Ifloor \frac n{\Ifloor \frac nl\rfloor}\rfloor+1\end{equation}

0 00O O \begin{equation}\frac n{\Ifloor \frac n{\Ifloor \frac nl\rfloor }\rfloor+1}\It\Ifloor \frac
nl\rfloor\le \frac n{\Ifloor \frac n{\Ifloor \frac nl\rfloor}\rfloor}\end{equation}

0 O O \begin{equation}r=\Ifloor \frac n{\Ifloor \frac nl\rfloor }\rfloor\end{equation}
O00000D00000oooDooooooog $\floor\fracnivrfloors D OO OO OOO

O $\Ifloor \frac ni\rfloor\le\sqrtn$ OO OO0 OOO0ODOO0O $\sqrtn$ 00

O $\Ifloor \frac ni\rfloor \gt\sqrt n$ O O O $iNlt\sqrt n$0 0000000000 $\sqrtn$ 00O

O000Q$\Ifloor\frac ni\rfloor$ OO OO OOODODO $0(sqrtn)$ 0000000000

goon

00 p2261

ug

00 $n$ O $k$O00 OO $\sum_{i=1}"n ki mod\ i$

HEN

\begin{equation}\sum_{i=1}"n k\ mod \ i=\sum_{i=1}"n k-i\ast\Ifloor \frac ki\rfloor=n\ast k-
\sum_{i=1}"n i\ast\Ifloor \frac ki\rfloor\end{equation}

LL pre _s(int k ILL*k* (k+1)/2;
LL cal(int i,int n
LL ans=0;
int lef=1,rig=0;
lef<=i
rig=min(i,n/(n/lef));
ans+=(pre s(rig)-pre_s(lef- *(n/lef);
lef=rig+1;

ans;

int main
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LL n=read int(),k=read int();
enter(n*k-cal(min(n,k),k));

.
1

Jogd

00 p2260

o

O \begin{equation}\sum_{i=1}"~n\sum_{j=13}"m [i\ne jI(n\ mod\ i)\ast (m\ mod\ j)\pmod
{19940417}\end{equation}

o

ooo0 $nle m$[]

\begin{equation}\sum_{i=1}"n\sum_{j=1}"m [i\ne jI(n\ mod\ i)\ast (m\ mod\ j)=\sum_{i=1}"n (n\
mod\ i)\ast\sum_{j=1}"m (m\ mod\ j)-\sum_{i=1}"n (n\ mod\ i)\ast (m\ mod\ i)\end{equation}

gbobooobobooobobooobboon

\begin{equation}\sum_{i=1}"n (n\ mod\ i)\ast (m\ mod\ i)=\sum_{i=1}"n n\ast m-n\ast i\ast
\Ifloor\frac mi\rfloor-m\ast i\ast \Ifloor\frac ni\rfloor+i”~2\ast\Ifloor\frac ni\rfloor\ast\Ifloor \frac
mi\rfloor\end{equation}

0000000000000 oooooooog $ns0$m$ 000000
const int mod= .
LL inv6;

LL exgcd(LL a,LL b,LL &tx,LL &ty

tx=1,ty=0;
a,;

LL re=exgcd(b,a%b,ty,tx);

ty-=a/b*tx;
re;

LL pre s 1(int k 1LL*k* (k+1)/2%mod;
LL s 1(int lef,int rig pre s 1(rig)-pre s 1(lef- %smod;
LL pre_s 2(int k 1LL*k* (k+1)%mod* (2*k+1)%mod*inv6%smod;
LL s 2(int lef,int rig pre s 2(rig)-pre_s 2(lef- %smod;
LL cal 1(int 1i,int n

LL ans=0;

int lef=1,rig=0;
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lef<=i
rig=min(i,n/(n/lef));
ans=(ans+s 1(lef,rig)*(n/lef)%mod)%mod;
lef=rig+1;

ans;

LL cal 2(int i,int n,int m
LL ans=0;
int lef=1,rig=0;
lef<=1
rig=min(i,min(n/(n/lef),m/(m/lef ;
ans=(ans+s_2(lef,rig)*(n/lef)%mod*(m/lef)%mod)%mod;
lef=rig+1;

ans;
int main

LL n=read int(),m=read int(),ans,t;
n>m

swap(n,m);

exgcd(6,mod,inv6, t);

inv6%=mod;

ans=(n*n-cal 1(n,n))%mod*( (m*m-cal 1(m,m) )%mod)Smod;

ans=(ans-n*n%mod*m%mod ) %mod;

ans=(ans+n*cal 1(n,m)%mod)%mod;

ans=(ans+m*cal 1(n,n)%mod)%mod;

ans=(ans-cal 2(n,n,m) )%mod;

ans=(ans+mod)%mod;

enter(ans);
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